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Programme — Bachelor of Computer Applications
Course Name — Basic Mathematics
Course Code - GEBS101

( Semester I)
Time : 1 Hr.15 Min. Full Marks : 60
[The figure in the margin indicates full marks.]
Group-A
(Multiple Choice Type Question) 1 x 60=60
Choose the correct alternative from the following :
(1) The set O of odd positive integers less than 10 can be expressed by
a) {1,2,3} b) {1,3,5,7,9}
c){1,2,5,9} d {1,579, 11}
(2) The set of positive integers is
a) Infinite b) Finite
c) Subset d) Empty
(3) Which set is equivalent to the set {2,3, 5,7, 11}7?
a) %} X is an odd number lying between 1 and b) (21,23, 25}
¢) {x: x is a prime number less than 12} d) None of these
(4) The number of elements in the power set of power sets of the empty set is
a)0 b) 1
c)2 d)4
(5) Indicate which one of the following is not true.
a) Identity matrix is diagonal matrix b) Identity matrix is upper triangular matrix
c) Identity matrix is scalar matrix d) Identity matrix is skew-symmetric matrix
(6) The mode of the observations 2,1,1,2,3,5,2,1,2,6,4,4,21,3 is
a)3 b) 4
c)2 d)1
(7) The standard deviation of the datas 5,1,7,2,6,3 is
a) 4.66 b)2.16
c) 1.47 d) none of these.
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(8) The standard deviation of 4,8,10,12,16 is

a)l b) 2
¢)3 d)4 my
ARy
(9) The mode of the frequency distribution Bﬂfdfnw a3 Um'm i
%0 1 2 3 4 LT Tsity
' J”‘m 1700 ”
S:33 24 21 28 20 : 124
a)l b)0
o)l d)2
(10) Median from the dats - 10,5,9.4.8,7,61s...
a)$§ b)6
¢)8 d)7

(11) The probability that Sukrit passes is 0.9 and Debayan passes is 0.8. The probability that
at least one of them is passes is

a) 0.96 b) 0.91
) 0.98 d) None of these
(12)

A=1{3,4,5,6,7},B=(56,7,8,9},C=7

2) {3,4,5,6,7,8,9} b) {5,6,7}
¢) {3,4,8,9} d) none of these
(13)
Determine the number of subsets of the following set: { h,i,,
a) 128 b) 64
c) 32 d) 16

(14) Which of these sets are equal:
A= {r,t,s} . B={s,1,r},C={t5,},D ={r.s.1}

a) Aand B b) AandC

¢) Band D d) all are equal.

(15) Whirh nna nf the fallnwing ie nnt trie?
) (4UB) =AUF Y (4nB) «2up

) (A) =4 d) A=-B=ANp'
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(16) AUB=B

If holds for all sets B, then LIBRARY
Bratnwmre UI‘.:verg,]gy
a) A=¢ b) A=B Baranat, Ketkas 700125
G) =g & 4=3 : _(ﬁ ' D None of these
(1 7) Whipllj\ ana nF‘t}'\.&:‘;.:I;nlln.-\minn ie trna?
a) AUg =9 b) AN@=¢
C) AUA=¢ d) 4NA=¢
(18) The number of elements in the Power set P(S) of the set S = {¢, {¢}. {#.{#}}} is
a) 2 b)4
c)8 d) None of these
(19)
If A={a,b,c.d,e f,g} and B {k,q,l,d,e,f,g} fhen A
a) {d.e. 1.8} b) {a.g.k}
'+ €) {a.b.c} ) None of these
(20)

Let A be a set with 3 elements and B be a set contains exact
others elements then the number of elements in A UB is

a) 5 b) 2
¢) 3 d) 1
(21) 17 % :
If seco= = and Olies in first quadrant then cosecO=
a) 17 b 17
15 15
o % 9 None of these
(22) 1 :
If cos(90° -8) = = then the value of 0 is
a) 1s° b) 40°
) 30° d) ¢°
(23) :
The value of sec(—945 )is
a) b
5 )—%
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Nz
(24)
If tan 35° = 0.7, then the value of tﬂn( 665 )19

2 0.7 by A
¢) 0 d) None of these

25) If tan 4 = 2, tan B = 3, then A+B=

a) 135° b) 45°
c) 60° d) 90°
(26) Litier 2y

/3 1 : Bratnyw:: iversii

The value of ——— — 18 Baracal, Kol 700155
2cos10° 2sinl0

o

a) -2 b) 2
¢) -1 Sy
(27) The value of sin 15° sin 75° is
a) % b) Y2
c) 113 d) None of these
(28) If ano =3, then the value of cos28 is
a) _4 b) 4
3 3
)1 d2
3 3
@29

If ..;E«:e«c 14:’3 and tan 26 = %, then the value of tan 0 is

a) 3 b) -3
c) -2 d) 2
(30) T i 4
If 0< eszand sin 20= = then the value of tan 6 is
a) 5 ; b) 1
2
c) 1
-1 d) o

GD If cosx +sinx—1= 0. then sin 2y <

a; 01 ‘ b) 1
) - d) 2
(32)
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If f(x)=loge" +&°** then f(x)=

a) | b) 2
¢) 3 d) 4
(33) %(xsin x)=
a) sinx+cosx b) sin x+ xcos x
C) Xsin x +cos x d) none of these.
(34) —d—(x’ cosx) =
dx
2) x(2cos x— xsin x) b) x*(2cosx— xsin x)
c) x’(lcosx—x’ainx) D). Nens of thess.
35
33) If yo X T3XH4 oy
x+3 dx
) 2 45x-13 B
(x+3) (x+3)
5 ﬁ-ﬁ_x_—lg 9 None of these.
(x+3) ;

GO 16 yu2 1827 £ 36248 they % z

8) 522 _30x+36 b) T
€) 6x*—30x+36 d) none of these.

G7 K y=e"", then %=_

a) cosxe*™* b) sin xe*e*
c) 1 d 1
1+ X3 : 1+x3
(33%) L
If x*+2xy =37 then 4«
a) x+y b) 2x+2y
y-x
c) xty d) =x
(39) 1+ cos2x dv
-"#m dsar
8) —cosec’x b) secix
C) mi x d) cot’ x

(40)
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If x = asec? @, y=btan’ 0, then 50

N) o b)l
y R L UL
c) d) !_ £ienn?, "'”’” al f”jt-i,
ab a
(41) dv
If ' — x* =0, then ——is
v dx
a) b) 10!1"‘1
a log x
d)
<) logx~-1 None of these
(log )
(42) &
Ihim i is equal to
x—0 3x
a) 2 b 3
3 2
¢) 1 d1
3 2
(43) 1
12_1’1}(14- 22)% i equal to
a)e b) 2e
¢) Je d o2

49

; 1
1r /(™) is continuous in [0.4] and if 1M () =7 then S

2) b) 4
: 3
¢)2 d) none of these

(45) (sin? xcos xdx =7

ﬂ)i b)l .

—cos?’x+c¢ e
2 3
d
c) Liinixec ) _;_sin,x*c

(46) Which of the following is correct?
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a) fsec’mfx-cct xXde b) "..g’:ﬂ:- tmax ¥ o

¢) ;su:?n!:-—tmxi-e_ d) d. I!ec’xdxs-cotx+c

an ¢ . '
( jsm 3xdx = kcos3x then k is equal to

a) 3 b)

W |

¢) 3 d
“5 ) None of these

438) . ;
@ Ie”“”’dx is equal to

a) Pic b) log x+¢
C) 4 d
xT*é—c ) x*+e

(49) [x2e*dx = is equal to

a) e"(xl—2x+2)+c- b) e’(x:+2x+2)+c

€) ¢ (x —2x—2)+c d) None of these

50
O Itanz xdx is equal to

a) x—tanx+c b) tan x—x+c
¢) x+tanx+c d) None of these -
D xn+1
Ix"dx = is not true whenn =
n+l
a) 1 b)- 1
) 0 d) any fraction

(52)

For the differential equation f'(x, y)j—y +g(x,y)=0 tobe
X ;

Do _ae R
Y & oy
) #s g Vor ag
E @ o
53)

1
The value of the integration Ixs dx is
-1
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a) 0
)23
(54)

1
The value of J'e"dx is
0

a) 0
) e-l
(55)

3
Th " .\'--8-
e value of lﬁ-ﬂ_r__\. o

a)4
c) -1
(56)
11
value of the determinant (13
12
a) |
c) -1
(&)

Co-factor of -3 in the determinant |1 O

a) 4
c)0
(58)

b) |
d) -2/3

P oyt

thiannt, Melimty ot

b) e
d) None of these

b) 3

d) None of these
13
15]is
14

12
14
13

b) 0
d) 67

2 -3 4
l|is
0 -1 4

b) -4
d) None of these

41 42 43

The value of the determinant |47 48 49|is

a) 4
¢) 0
59)
. 1 2 3
4 5 6| the minor and co-
7 8 9
a) 3,-3
c) -3,-3
(60)

44 45 46

b) 1
d) None of these,

factor of 3 are respectively

b) -3,3
d) None of these.
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~a) 0
c) 19

The value of

Pk
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b) 13
d) none of these.
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